6 UOOooo

1.100000 BMIOO0OO0O0O0O0O00OO0O0O0O0O0O0O0O00O00O000O000O0O000O000000
obobooooobobobooboosMIO0OOobOOoOoOooobOOoOoOoobOOobOobooooobobon
goobooooobooboboobooboobooboooooobooooooobooboobooon
gbooooboboooobobooooboboooon

gboooooooobooobooobooooooobooobboobooooooobooooboobooooOooag
oboooooo

gbobooobooobooobooooboobooobooooooooboboobooboooooooooo
gbooooooboboooobod

6.1 0ODO0OOOO

1.100000BMIO0O00O0000O0O00O0O0O0O0O0O0O00O0O00O000O000AO0

public class Bmi {
public static void main(String[] args) {
double weight = Double.parseDouble(args[0]);
double height = Double.parseDouble(args[1]);
double bmi = weight / (height * height);
System.out.println("BMI=" + bmi);

oboboooooboooooboobooooobobooooobobon

javac Bmi.java
java Bmi 67.0 1.78

obob0o0o0oo0O0 oboboooboboooooobobobooobooDbo
BMI=21.146319909102385

ob0o00oboo0obOO0OBmi.java OO00000O0O0O0O0O0O0O0O0OOOOODOOOOOOOOOOOO
Ub00000java Bmi 67.0 1.7800000000000000000O00OO0OBMIOOOOO
gbooooooobobooboooobobooooboboooobobobooboOon eMIDOn
gboboobobooooboooboobooboooobooboor1booobboooooooooobooon
oboboooooboboooooobobbOoboooobOoboooooboOobooooog

main 0000000000 0O0OOOOOO0

OOoO000000000000 2000 public static void main(String[] args) 00O Omain
O000000000000String[] args000000000000000000O00OString 0000
ooo0oooo0o0ooo00oO04.2000 00000 dOo0O00000003.5000000000
args000000000000O00O0O0O0O
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0003000 4000000args[0]10 args(110000000000000000 argsd 000
gi1d0000booboobooobob00b0O100b0000000D000DOOOjava ODOOOOOO
obobooooobobooobooer.odboOt.7s0000bDOO0OOOOOO

gbooooooboo

oO00O0Oer.o0dO00OD1.780000000O000000DOOOODOOOODOOOOOODOO
go0er.o0001.7800000000000DOCOOOBMIOOOODOOOOODOOODOOOODO
O00000D0O03000 Double.parseDouble(args[0]) DDargs(O] OO0 ODOODOODO 67.0 OO
O0000OOdowleDO00OOD0O0ODOOO0OOODOODOOODO4000 Double.parseDouble(args[1])
oooooo”

6.2 U000

gbobooobooooboooobobooooobooooboobobooooboobooboooobo0ooboOoOon
gboooood

obooooooooboooooooobooooboooboooboooobooooboboOooooooboooboon
gbooooooobooooooobooooobooooooboooooboooobooooooobooooooboooon
gbooooooboboooobooboooooon

1.100000 BMIODODOO000C000DO0O00O0O0OO0OBmiKeyboard.java DO OOOO0OOOOO0O0O0O0O
oboooooobobooooooo

import java.io.x;

public class BmiKeyboard {

public static void main(String[] args) {
67.0;
1.78;

double weight
double height

try {
InputStreamReader isr = new InputStreamReader (System.in);

BufferedReader br = new BufferedReader(isr);
System.out.println("Please input the weight");
weight = Double.parseDouble(br.readLine());
System.out.println("Please input the height");
height = Double.parseDouble(br.readLine());
br.close();

}

catch (Exception e) {
System.out.println(e);

}

double bmi = weight / (height * height);

System.out.println("BMI=" + bmi);

00000000 Double.parseDouble() OO Double 10000000000 parseDouble() 00 000000000000
ooooooooooooo
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goooooooooOoDbOooOoOooOOo0oOoOoOOoO0O0obOOOoOoOoDbDOOODODOOObDOO BMIDODO
goooooooooooOooo0oOoooooooooboooobDOObOOOo0OoooooDoOboOoOoOo
ooo

ooobooooooooooooooobooooo

001000 import0000007.200000000

3,40000000 weight 00 height 00000000 O0O0ODODOOO

5000 +try0000007.300000000000D00000000000000 BufferedReader
0000 readLine() UO0OODOOO close() D000 0OOtry0OOO {0 }000000CO0OOOOO
ooooooobooooog

6 000 InputStreamReaderJ0 0000 isr 00000000000 DOOOOOOCOODOOOOO
7000 BufferedReader 00000 br 0000000000000 100000D0000000O0D0O
oooooooboooog

8000 System... 00O OPlease input the weight OO OO0O00OOO0OOO0OO0O0O0O0O0OO0OO
0000000000 0000000 Enter0000000O0O09000 br.readline() OJODODOOO
go0o00o0o00oboo0o00oD100000000000DO0O009000 Double.parseDouble() OO
0000000 doubleD0O00DODOOODODOODOODOOODODO weight OODOOODOOO

10000 System... OO O0OPlease input the height 0000000000000 O0OOOOO
0000000000000 0000 Enter 00000000011 000 br.readline() OOOOOO
oo0o0oo0o0oo0oooobooO:100000000000D00D11000 Double.parseDouble() OO
0000000 doubleD0O0O0D0ODO0OODOOODOODOOODOD neight 00O0OODODOO

12000 br.close(OODO000 b O0O0OOO0O0O0O0O0O0DODOOODOOOOOOOOOOOOODOLOO
ooooo

14000 catch(Exception e) D00 15000 System.out.println(e) DO0OO0ODO7.30000
0000000000000 0000000O0try 0 } 000000 catchOOOOOOOODODOOO
ooooooog

o000000woooBMIODOO00000miOOO00D180000000000D000O00O0OO

goooboooooooooooooooooooobooobOobObOOoOoooooooDObObooOOoo
oooooooo

6.3 OO0

gboboooboooboooooboobooooboooooooooooboboo0ooobooobooooboog
gbooboobooobooboobooooooboobooooobooon

00000000000 system.out.println() DO0000O000O0000O0C0OO0O0COOOCOO
O00SystemO 00000 outO00O0O00outD0O0 println 000000000000 COOOOOO
good

gbooooooboboobooooboboboooooboooooboooo

64 0O0O0O0OO0OO0ODOOOODOODOOO

gboobooooooooooboooboooobooooboooooooooboobooo AbOOobOOoOoog
BOOOOOOOOOOD 200000 0%00 100%00000000000000O3

f000000000000000000000000000000000000000000000000000000000
oobooooooooooobooooo
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00000000 vranai.java OO0 000000 OO0O0OO0OO0ODOOOOO0OOOOOOODOOOOO
gboboooooboboooo

1. Month of birthday A DO OD0OOO0OO0OD0OO AODOODOOOCOOOO
2. Day of birthday A OODOU0OO00O0O0OO0 AODODODOOOOODO
3. Month of birthday B U0 OOOOOOOOBOOOOOOOOOO
4. Day of birthday B UUOOUDOUOOO0OOO BOOOODOOOOOO

obob0i1030000b000040 1200000000000000O000O0O00O1, 3, 4, 1200040
gbooooooboooooobobooboobObO oo bOOODbOOOOOOOOODOOODbOOObOOOn
gboooooobooon

import java.io.x;

// 00000000

public class Uranai {

// 0000000000000
static int calculateTotalDays(int monthl, int dayl) {
int total = 0;
int days[] = {31, 28, 31, 30, 31, 30, 31, 31, 30, 31, 30, 31};

// 000000000000 00000ad
for(int i = 0; i < (monthl - 1); i++) {
total += days[i];

// 000000000
total += dayl;

// 0000000

return total;

// 000000000000
static int calculateChemistry(int totall, int total2) {

int chemistry;

// 000000 O000b0o0o0oo0obo0ooooooobooooonon
chemistry = (totall + total2) % 101;

// 00000

return chemistry;
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// 0000000
public static void main(String[] args) {

// 20000000000000000
int monthl = 0, month2 = 0, dayl = 0, day2 = O;

// 00 A0000DO000BOODOOOOODOOODOOO

try {
InputStreamReader isr = new InputStreamReader(System.in);
BufferedReader br = new BufferedReader(isr);
System.out.println("Month of birthday A");
monthl = Integer.parselnt(br.readLine());
System.out.println("Day of birthday A");
dayl = Integer.parselnt(br.readLine());
System.out.println("Month of birthday B");
month2 = Integer.parselnt(br.readLine());
System.out.println("Day of birthday B");
day2 = Integer.parselnt(br.readLine());
br.close();

}

catch (Exception e) {
System.out.println(e);

// 00A0000000DOO0O000DODO0O00OD

int totall = calculateTotalDays(monthl, dayl);

// 00BOO0ODOOOODOOOOODOOOODO

int total2 = calculateTotalDays(month2, day?2);

// 00A000BODOOOOODOOOODO

int chemistry = calculateChemistry(totall, total2);
// 00A000BODODOOODOOOO

System.out.println("chemistry=" + chemistry);

gboooobobooboooboboboooooooobooboooon

gboboooooboboooo

calculateTotalDaysU O OO OO Odays OO0 O000O0O00O0O0O0O0O0O0OO0OOOODOO 3.560000
gooooobooOooooboOoooooooo

int days[] = new int[12];
goo0o0o00o00o0o0O0OO0UU0U00UUOUOOUOOUOOUOOOOoOogogggoogogd

int days[] = {31, 28, 31, 30, 31, 30, 31, 31, 30, 31, 30, 31};
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gbooooobooboboobooboboooooboobooooooboboooooo

gooooo100000
mainO0000000000 400 int 000000000 OO0O0O0O
int monthl = 0, month2 = 0, dayl = 0, day2 = O;

ooob0O0o0oooooooooooooooooooon ()yoooooo1ooooooooooo0oo
gboooooo

oboooooooboo

6.10000000000000C0000O0OC0O0O0O0OO0O0O0O0O0OO0OOO0OO00OOO0OO0OGBO00
000000000000 0main 000000 Integer.parselnt(br.readLine()) 000000 400
0000000000000 b pr.readLine(O 000000000000 O0O0CCOODOOOOOOOOO
oooo

obooooooooboo

main 000000000 00O0O00O0O 200 calculateTotalDaysUOUOOOOOOOOOOOOO
oooobooooooooooooooooooobooooooooooooobboooooooOoooo
gooooooobooooooooooOooO0oobOo0ooobDo0oooOoO00oDO0O0D Doooooobo
gooooooooooooobooooobooooooOoooooooobDooOboOooboOoboOooDboOooD
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